Statistical Analysis

1 201 MSM 3APM The algebraic sum of deviation
of a set of n values from their
arithmetic mean is..................

The algebraic sum of deviation o
of n values from their arithmetic

is
B.0

D.2n

Answeris : B

2 201 MSM 3APM 1 1 A OBJ If 10 is the mean of a set of 7

8 A observations and 5 is the mean
of a set of 3 observations then
the mean of a combined set is
given by

15 B. 10

Im
|w}

C.8.5 D.7.5

Answeris : C
3 201 MSM 3APM 1 1 A OBJ  The point of intersection of the

e A "less than' and the 'more than'
ogive corresponds
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A.mean B.median

C geometric D harmonic
‘mean ‘mean

Answer is : B
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8 A

5201 MSM 3APM 1 1 A OBJ
8 A

6 201 MSM 3APM 1 1 A OBJ
8 A

7 201 MSM 3APM 1 1 A OBJ
8 A

8 201 MSM 3APM 1 1 A OBJ
8 A
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Measures of a tendency to E
concentrate at certain

values(centre of the

distribution) is called measures

central

: B. skewness
tendency

C.variation D. kurtosis

Answer is : A

If any one of the observations is
zero, then geometric mean
becomes

A.0 B.1
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C.2 D.n

Answer is : A
The mean of the distribution, in
which the values of x are

1,2,...,n, the frequency of each
being unity is.......ccccevvevvenenne.

A.n(n+1)/2 B. n/2
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C.(n+1)/2 D.n(n-1)/2

Answeris : C
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is also known as
positional average.

A.mean B.median

harmonic

C.mode D.
mean

Answer is : B
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is the value
which occurs most frequently in
a set of observations.

eometric
A.mean B. 9
mean
harmonic
. D.mode
mean

Answeris : D
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The standard deviation is 9 and
mean is 186 then coefficient of
Variation iS......ceeveeeeeeeeeeeeeeenn,

A.4.84 B.4.74
C.4.64 D.3.86

Answer is : A

The median of 10,25,50,60 and
64 is

A.25 B.50
C..60 D.10

Answer is : B
is the value of the

variable which is predominant
in the series.

median

A.mean ) .
deviation

C. mode D quartile
' "deviation

Answeris : C
If the frequency distribution is

moderately asymmetrical,
mean,median and mode obey

empirical
relationship
mode=3median- | analysis
‘2mean “table
I+h(f-
C.l +(h/c)(N/2 - ¢) D.fo)/2f:-
fo-fo

Answeris : A

If a distribution is more than
two modes, it is said to

bimodal C. unimodal

C.bimodal D. multimodal

Answer is : D
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is the
maximum value of the mean
square

A.mean B.variance
C.mode ) stan_da_r d
deviation

Answeris: B
is the average to

be used while dealing with
qualitative data.

A.mode B.median
C. arithmetic D.variance
mean

Answer is : C

The most stable measure of
central tendency is...........cccenee.

A.mean B.median

C.mode D.variance

Answeris : A

The mode of 2,5,7,2,2,2,3 is

A7 B.5
C.3 D.2

Answeris : D

The upper limits are excluded
from the respective classes and
are included in the next class
are classes.

A.linclusive B. exclusive

C.equal D.unequal

Answer is : B

If there are irregularities in the
distribution, the value of mode
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is determined by

method
: minimum
A.grouping B. frequency
repeated maximum
“frequency “frequency

Answer is : A

The median of
57,58,61,42,38,65,72,66

A.58 B.72
C.j59.5 D.60.5

Answer is : C

If n number of observations has
mean 140 and their sum is 420
then NiS..oovvveveeee,

A.240 B.3
C.570 D.280

Answer is : B

If A, G, H are arithmetic,
geometric and harmonic means
between a and b respectively,
then AGHare ......cccooeevvvennnne.

A.in G.P B.inH.P
C.nAP D. Real numbers

Answeris : A

If A,G,H are arithmetic,
geometric means between a and
b respectively,

AH>G>A B.H>G>A
C.H>G= A D.A>G>H

Answeris : D
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Frequency distribution whose
most values are dispersed to left
or right of mode is classified as

A.skewed B.bimodal

C.explored D.unimodal

Answer is : A

Harmonic mean, arithmetic
mean and geometric mean are
all considered as..........ccooo......

e population
extended g averages
‘measures |’

sample D mathematical
‘averages ‘averages

Answeris : D

Value of 2fd is 250, A= 25,
number of observations are 12
and width of class interval is 6
then arithmetic mean is

A.25 B. 150
C.250 D.275

Answer is : B

If arithmetic mean is 25 and
harmonic mean is 15 then
geometric mean is

A.17.36 B.15.36
C.16.36 D.19.36

Answer is : D

Difference of mode and mean is
equal to..................

A.3(mean- B. 3(mean-
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median) mode)

2(mean- 2(mode
“median) ‘mean)

Answer is : A

If mean is 11 and median is 13
then value of mode is

A.15 B.9
C.13 D.17

Answer is : D

If value of mode is 14 and value
of arithmetic mean is 5 then
value of median is

A.12 B.8
C.18 D.14

Answeris : B
is a better

measure of dispersion than
range or quartile deviation
mean

. .. B. variance
deviation
standard mean square
‘/deviation "deviation

Answer is : A

Standard deviation
mean deviation

A> B.>
C.< D.<

Answeris : A
IS

the minimum value of mean
square.
standard

. . B. variance
deviation
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C.mean D. mode

Answer is : A

Z will be minimum for
variations in A if 0Z/0A

A.>0 B.,0
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C.=0 D.>0

Answer is : C

times the coefficient of
dispersion based upon standard
deviation is coefficient of
variation

A. 75 B.50
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C.25 D. 100

Answer is : D

The number of wage

earners are 500 and 60 and
their average daily wages are
186 and 175 for firm A and firm
B respectively. Which firm, A
or B has a larger wage bill?

A. A only B. B only

both A and
‘B
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C.AorB D

Answeris : A

V(aX+bY)=a2V(X)+b2V(Y)+....

Irm
w}

e cov(X,Y) £ 2abcov(X,Y)

& abcov(X,Y) L 0

Answeris : B
Standard deviation is divided by

coefficient of variation to
calculate
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arithmetic coefficient of

‘'mean “arithmeti
multiplier of | | coefficient of
‘ldeviation “variance

Answer is : A

If standard deviation is 7 then
mean absolute deviation is

A.9.75 B.7
C.5.6 D.8.75

Answer is : C

If total sum of square is 20 and
sample variance is 5 then total
number of observations are

A.14 B.4
C.15 D.9

Answer is : B

If calculated value of total sum

of squares in sample variance is
larger than variation in data set

is considered as

A.smaller B. zero

C. greater D. negative

Answeris : C

f arithmetic mean is multiplied
to coefficient of variation then
resulting value is classified as

oefficient of standard

"deviation "/deviation
coefficient of )
C. D.variance
mean

Answer is : B

Considering sales, coefficient of
variation for product X is 9.3%
and coefficient of variation for
product Y is 8.9% then sales
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fluctuation of

A product X is  product X is

higher “lower
. product X
product Y is :
C. higher D. ?nd Y is
ower

Answeris: A
Standard deviation is divided by

coefficient of variation to
calculate

A arithmetic coefficient
‘mean "lof variance
coefficient multiplier of

"lof arithmetic |~ "/deviation

Answer is : A
If the mean is 25 and the

standard deviation is 5 then C.V
(Coefficient of variation) is

A.100% B.20%
C. 250 D. None of
these

Answeris : B
Sum of all squared deviations is

divided by total number of
observations to calculate

population sample
"deviation "deviation

population D sample

variance variance

Answeris : C

If positive square root is taken
of population variance then
calculated measure is
transformed into

A.standard root B. star)dard
variance
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standard sample
C. .. D.”7.
deviation variance
Answer is : C
48 2g1 MSM 3AAPM 2 1 A OBJ In a set of observations, amount | E D
of variation can be shown in
form of figures with help of
A absolute uniform
"measures "measures
non-
) explorator
C.uniform D. P y
measures
measures
Answer is : A
49 231 MSM 3AA"’M 2 1 A oBJ Mean of squared deviations ED
which is calculated from
arithmetic mean is called
standard mean square
Asquare  B. g
average
average
sample .
opulation
C.square p.PoP
average
average
Answer is : B
50 201 MSM  3APM 2 1 A OBJ In terms of dispersion ED
J A difference, measurement of
dispersion for available data is
classified as
p average B availability
‘Imeasures "measures
average .
ey distance
C.deviation |D.
measures
measures

Answeris : D

51 2018 MSM 3APM For set of values, percentage

A of values that lies within

population mean plus four
standard deviations of
population is

A.83.75% B.95%
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A

53 2018 MSM 3APM 2 1 A OBJ
A

54 2018 MSM 3APM 2 1 A OBJ
A

55 2018 MSM 3APM 2 1 A OBJ
A

56 2018 MSM 3APM 2 1 A OBJ
A

C.93.75% D.98.75%

Answer is : C

Theorem which states least
percentage of values that fall
within z-standard deviations is
classified as

Chebyshev's | Pearson
"Theorem "Theorem

sampling population
"theorem "theorem

Answer is : A

Categories of measures of
dispersion are classified as

uniform absolute
‘Imeasures ‘measures
relative
. D.both b and c
measures

Answeris : D

Population variance is also
called

A zlgma B.square root
squared
e BRI D. cubic root
sigma

Answeris : A

Formula which considers
relationship between set of
observations, standard
deviation and mean is

classified as
empirical three way
“value “rule
both a
C.normal rule D.
and c

Answeris : D

Considering set of
observations, percentage of
values that lies within

E
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population mean plus two
standard deviations i

A.60% B.75%
C.55% D.85%

Answeris: B
57 2018 MSM 3APM 2 1 A OBJ  Formula in which £(x-x")*is |E D
A divided by one less than

number of observations in

sample is classified as
sample mean
"variance "variance
coefficient population
"of deviation ~"variance

Answer is : A

58 2018 MSM 3AAPM 2 1 A OBJ  Standard deviation of first 50 E D
natural numbers is
A.45.43 B.14.43
C.20.43 D.16.43
Answeris : B
59 2018 MSM 3APM 2 1 A OBJ  Standard deviation of ED
A population is denoted by
A.Q B.o
C.o D.X
Answeris : B
60 2018 MSM 3APM 2 1 A OBJ  farithmetic meanis78and |E D

A coefficient of variation is

12.3% then standard deviation
is

A.10.594 B.8.59
C.9.594 D.11

Answeris : C
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61 2018 MSM 3APM
A

62 2018 MSM 3APM
A

63 2018 MSM 3APM
A

64 2018 MSM 3APM
A

65 2018 MSM 3APM
A

3

3

3

3

3

OBJ

OBJ

OBJ

OBJ

OBJ

Ifr= , the correlation
Is perfect and positive.

A -1 B.2
C.}-2 D.1

Answer is : D

The variables X and Y under
study are linearly related

Karl
A.pearson's B
correlation
Jonson rank | scatter

‘correlation |~ /diagram

Rank
‘lcorrelation

Answer is : B

If rxy=1, the line on the graph
will be extended from
to 1.

A.-2 B.-1
C.0 D.-3

Answer is : B

Ifr=0, = , the two
variables are uncorrelated

A.0 B.
C. D.

Answeris : D

The fitting of a power curve
Y=

A.aXP B.2XP
C.3ax® D.aX?

Answer is : A
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The square of the regression
coefficient r’=............c........

A. bxybyx B. bxy+byx

C. bxy/byx D. bxy-byx

Answer is : A

Correlation coefficient is the
between the
regression coefficients.
geometric B Arithmetic
mean mean
harmonic

: D.mean r
C . ean square

[rm
|}

Answer is : A

If one of the regression
coefficient is
than unity, the other must be
less than unity.
.Iess than or B. less than
equal to
greater than
"or equal to

[rm
(]

D. greater than

Answeris : D
The best fit is interpreted in

accordance with
principle of

Irm
©

least squares
A.Legender's B.Lagrange's

C.Newton's D.Spearman's

Answer is : A

In spearman’s formula for the
rank correlation

Irm
w)

coefficient =......ccccccvee...
A.3 B.2
C.1 D.0

Answeris : D
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3

3

3

3

OBJ

OBJ

OBJ
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In spearman’s rank correlation
formula if there is tie
term is adjusted

A.covariance |B.\variance

standard

_ . D.mean
deviation

Answer is : A

The coefficient of correlation
between X and Y is 0.6, their
covariance is 4.8. The
variance of X is 49, then the
Standard deviation of Y

A.25.92 B.0.04
C.1.04 D.2.67

Answer is : D

The coefficient of correlation
will have positive sign

X and Y are  lincreasing
“increasing | and Yis

decreasing
Xis :
increasing e IS no
C. . D.change in X
and Y is
. ; and Y
increasing

Answeris : A

factor to be
added for each repeated value
in both the X series and Y
series of spearman’s rank
correlation.

Answeris : C
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3

3

3

3

3
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In chance correlation the
value of r for a given set of
data is not

Al B.-1
C.0 D.2

Answeris : C
The two lines of regression

are nearer to each other when
the angle between the lines

[rm
(]

A.smaller B. larger

C.equal D. not equal

Answer is : A

If the regression coefficients
are positive then r

[rm
(]

A. positive B. negative

C. not positive D.not negative

Answer is : A

Whenever two lines intersect, | E D
there are two angles between

them, one is acute and the

other is angle.

A.lacute B.obtuse

C..complement D.supplement

Answeris : B
Regression coefficient of Y on E D

A. bxy B. bvyx
C.ox oy D.r(X,Y)

Answer is : B
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If the change is one variable
affects a change in the other
variable is........ccccocviiiiennne

A.correlation B.regression

scatter
"diagram

frequency
"distribution

Answer is : A

If the two variables deviate in
the same direction is said to
be

correlation.
A. positive B. negative
C. diverse D. opposite

Answeris: A
r(X,Y) provides a measure of

relationship
between X and Y.

A.non-linear B. linear

neither
D.|linear nor
non linear

both linear
C.land non
linear

Answer is : B

If X and Y are independent
variables, then

COV(XK,Y )=
Al B.O
C.r(XY) D.

Answer is : B

If X and Y are jointly
normally distributed

With
A.l B.2
C.0 D.3
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3

3

3

3

3
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OBJ
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Answer is : C

There are always

lines of
regression.
Al B.2
C.3 D.4

Answer is : B

Whenever two lines intersect,

there are angles between
them.

A.l B.3

C.2 D.4

Answeris : C

The modulus value of the
arithmetic mean of the
regression coefficient

is the modulus
value of the correlation
coefficient r.

not less
A than B. greater than

not greater

C. greater than D. than

Answer is : A

Correlation coefficient is
independent of change of

and scale.
A.origin B.size
C.\variance D.|lines

Answeris : A

If cov(X,Y)=3 and =
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A.0.603 B.1.703

C.3.789 D.5.789

Answer is : A

To determine the height ofa |E D
person when his weight is
given is.......ccewee. problem.
A.correlation B.association
C.regression D.qualitative
Answeris: C
Standard Error of number of E D
successes =
A. B.
C. D.
Answeris: A
ED
is selected for rejection of the
null hypothesis
standard t
“error “distribution
significance . test of

“level "hypothesis
Answeris : C
A random sample of ED
observations is drawn from a
relevant
statistical.............cccoeveunnne.
A.mean B. median
C.Population D.variance

Answeris : C

forany E D
parameter are known as

fiducial limits.
significance lower

A. i
test limit
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99 2018 MSM 3APM 4 1 A OBJ
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C c_on_fldence D upper
limits limit
Answeris : C

If calculated |t|> tabulatedt, E
null hypothesis is

O

A.rejected B. accepted
either neither

C.rejected or D.rejected nor
accepted accepted

Answer is : A

If calculated |t|< tabulatedt, |E D
Ho may be accepted at
the.
critical level of
"value “significance
C critical goodness of
"point “fit
Answeris : B
The standard error isfor E D
statistic
sample sample
‘variance ‘mean
sample sample
C.standard D. b
. median
deviation
Answeris : B
The standard error for sample E D
standard deviation
1S e
A. B
C D
Answer is : D
Standard Error of number of E D

SUCCESSES =

AT Pd


http://172.17.30.30/coe/examportal/admin/EditQuestion.php?ID=89614
http://172.17.30.30/coe/examportal/admin/DeleteQuestion.php?ID=89614
http://172.17.30.30/coe/examportal/admin/EditQuestion.php?ID=89616
http://172.17.30.30/coe/examportal/admin/DeleteQuestion.php?ID=89616
http://172.17.30.30/coe/examportal/admin/EditQuestion.php?ID=89618
http://172.17.30.30/coe/examportal/admin/DeleteQuestion.php?ID=89618
http://172.17.30.30/coe/examportal/admin/EditQuestion.php?ID=89619
http://172.17.30.30/coe/examportal/admin/DeleteQuestion.php?ID=89619
http://172.17.30.30/coe/examportal/admin/EditQuestion.php?ID=32059
http://172.17.30.30/coe/examportal/admin/DeleteQuestion.php?ID=32059

o 1
C.ﬁ D'W

Answeris: A

100 2018 MSM 3AAPM 4 1 A OBJ  The total area under the curve E D
in each chi-square distribution
is
A.3 B.0.5
C.1 D.0

Answer is : C

101 2018 MSM 3APM

selected for rejection of the
null hypothesis.

standard t
= error = distribution
c significance D test of

“level "hypothesis
Answer is : C

& observations is drawn from a
relevant statistical
A.mean B.median
C.population  D.variance
Answeris: C
103 2018 MSM 3APM 4 1 A OBJ forany |E D
A parameter are known as

fiducial limits.
A significance B. Igwer

test limit
C c_on_fldence D upper

limits limit
Answeris : C

104 2018 MSM 3AAPM 4 1 A OBJ |fcalculated [t|>tabulatedt, |E D

null hypothesis is
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109 2018 MSM 3APM 4 1 A OBJ
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A.rejected B.accepted
either neither

C.rejected or D.rejected nor
accepted accepted

Answer is : A

If calculated |t|< tabulated t,
Ho may be accepted at the

critical level of
"value “significance
critical :
C. point D. goodness of fit

Answer is : B

[#)
The standard error 7 is for
statistic

sample sample
‘variance ‘mean
sample sample
C.standard D. P
. median
deviation

Answer is : B

The standard error for sample
standard deviation is

or ]

Al B.|/2*
2 2

or or
%7 . an

Answeris : D

The standard deviation of the
sampling distribution of a
statistic is known as

A statistic B.sample

standard

C.population D. —

Answeris : D

If X is a random sample of size
n from a normal population
with mean and variance then
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the IS
distributed normally.

A sample population
‘mean ‘mean
sample
pamp D.sample space
variance

Answer is : A

isused |E
to decide on the basis of the
sample results.
A t test of
"distribution |~ significance
c? anova
“distribution |~ classification
Answeris: B
isused for E
studying the differences for
large samples.
A.t-test B.Z transformation
C.F-test D. t?St Pf
significance
Answeris: D
Int -test for single mean, the | E
parent population from which
the sample drawn is
A. stable B. normal
C.skewness  D.unstable
Answeris: B
E

Int - test for single mean, the
sample observations are

A fixed B. independent

C.selective D.dependent

Answer is : B
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IS unknown in
t test for single mean.

A.mean B.sample
population

C. standard D. ;ag;lale
deviation

Answeris: C

In paired t test the calculated |t|
is less than tabulated t, Ho may
be accepted at level
of significance.

A.98% B.100%

C.5% D.95%

Answer is : C

If T and Y comes in
, direct method is

used.
decimal integral
“values “values

C fractional irrational
“values ‘values

Answeris : B

Under , the

increments are due to
fluctuations of sampling.

test of z
significanc B.transformatio
e n
null D
hypothesis I test
Answeris: C
The statistic t =
X —pig X
A B. &
VT
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S T
g T
Answer is : A
/= ED
T— 4 Tr—
A. ad B. 52
b e
— T
o i N
vh )

Answer is : D

If the sample is ED
small, the distributions of the
various statistics are far from
normality.
A size B. mean
standard number of
"deviation |~ observations
Answeris: A
Any hypothesis is ED
complementary to the null
hypothesis is called an
Igve! (.)f test of
A.significance B.h othesis
test yp
alternative single tailed
"hypothesis "hypothesis

Answer is : C

A region(correspondingtoa | E D
statistic t) in the sample space

S which amounts to rejection to

Ho is termed as

critical
A critical value B.region of
rejection

critical region . (critical
"of acceptance ~ “value of t

Answer is : B
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The probablity that a random
value of the statistic t belongs
to the critical region is known
as the

critical critical region
“value "of acceptance
critical level of
C.regionof D. . "
0 significance
rejection

Answer is : D

If the population & is
unknown then its estimate

provided by the
sample sample
variance mean

C population pop_ulation
mean variance

Answeris: A

A finite subset of statistical
individuals in a population is
called a

A.mean B. sample
number of random

"lobservations ‘variables

Answeris : B

For t test samples

are used.

A large B. medium

C.small D.|less than 50

Answeris : C

If T or U has
values step deviation method is
used.

A fractional  B.integral

C.decimal D.lirrational

Answer is : A
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128 2018 MSM 3APM 4 1 A OBJ
A

129 2018 MSM 3APM 4 1 A OBJ
A

130 2018 MSM 3APM 5 1 A OBJ
A

131 2018 MSM 3APM 5 1 A OBJ
A

132 2018 MSM 3APM 5 1 A OBJ
A

To test the efficacy of a drug
for inducing sleep and the
readings of hours of sleep of ith
individual, before and after the
drug is given then

test is used.
At B.F
C. paired t D. student t

Answer is : C

The total area under the curve
in each chi-square distribution
is

A.3 B.1

C.0.5 D.0

Answer is : B

In X2 test, the sum of the
observed and expected
frequencies is always

A.0 B.2

C.0.5 D.1

Answeris: A
The of
the X2 distribution is equal to

the number of degrees of
freedom.

A.median B. mean

C.mode D. frequency

Answer is : B

test is
known as test of goodness of
fit.

At

B.Fishers

C. w2 D.student t

[rm
(]

Irm
©

E

@)

D
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133 2018 MSM 3APM 5 1 A OBJ
A

134 2018 MSM 3APM 5 1 A OBJ
A

135 2018 MSM 3APM 5 1 A OBJ
A

136 2018 MSM 3APM 5 1 A OBJ
A

137 2018 MSM 3APM 5 1 A OBJ
A

Answer is : C

The quantity 2 described the £ 2

magnitude of the discrepancy
between theory and

A.frequency B.distribution

C. parameters D.observation

Answer is : D
The variance of

the X2 distribution is
the degrees of
freedom.

A.thrice

[rm
(]

B. twice

C.three fourth |D.four times

Answer is : B

%2 distribution is a limiting
approximation of the

distribution.

A.lunimodal B. bimodal

C. multinominal D.binominal

Answeris : C

For large sample sizes, the
sampling distribution

of X2 can be closely
approximated by a

continuous
A.curve B.
curve

Irm
©

straight

C. l D.parabola
ine

Answer is : B

O

In XZ distribution, the degrees =

of freedom increase, the curve
becomes

A. straight line B. asymmetric
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138 2018 MSM 3APM 5 1 A OBJ
A

139 2018 MSM 3APM 5 1 A OBJ
A

140 2018 MSM 3APM 5 1 A OBJ
A

141 2018 MSM 3APM 5 1 A OBJ
A

continuous

C.symmetric D.
curve

Answer is : C

If the calculated value ED
of }{2 is the table
value, the fit is considered to
be poor.
less than or
A. equal to B. less than
: YRR D. greater than
or equal to
Answer is : D
The between ED
samples measures the
difference between the sample
mean of each group and the
overall mean weighted by the
number of observations in each
group.
A.mean B. stan_da_r d
deviation
C.variance |D.observations
Answer is : C
In one way classification , SSC | E D
means
Product of sum of
squares squares
‘between ‘between
samples samples
product of sum of
“samples "'samples
Answeris : B
The distribution ED

measures the ratio of the
variance between groups to the
variance within groups.

At B. 2
C.F D.normal
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142 2018 MSM 3APM 5 1 A OBJ
A

143 2018 MSM 3APM 5 1 A OBJ
A

144 2018 MSM 3APM 5 1 A OBJ
A

145 2018 MSM 3APM 5 1 A OBJ
A

146 2018 MSM 3APM 5 1 A OBJ
A

Answer is : C

If the calculated value of F is

the table value,
the difference is not significant
and has arisen due to
fluctuations of simple
sampling.

Irm
|}

A. greater than B, 9r3te! than
or equal to
less than or

: D. less than
equal to

Answer is : D

In one way classification, the
samples do not come from the

[rm
(]

sample
A.parameters  B. P

mean
sample

: . D.variance
population

Answeris : C

Irm
(]

is the
measuring rod for testing
significance.

A.\variance B. distribution

sample

: . D.residual
population

Answeris : D

Residual represents the
magnitude of variance due to
forces called
standard
"deviation

Irm
©

B.chance

significance

C. hypothesis D. level

Answer is : B

If the hypothesis is not true, the E D
variation between the sample
means will tend to be
the variation
within the samples.
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147 2018 MSM 3APM 5 1 A OBJ
A

148 2018 MSM 3APM 5 1 A OBJ
A

149 2018 MSM 3APM 5 1 A OBJ
A

150 2018 MSM 3APM 5 1 A OBJ
A

A.equal to B. larger than

larger than

C.smaller than D.
or equal to

Answer is : B

[rm
(@)

gives an

unbiased estimate of the

population proportion p.
sample sample

A. . B.0 .
proportion variance
sample sample

(o D. .
mean population

Answeris: A

Irm
S

The critical value of Z is

A.1.36 B.1.96

C.0.36 D.0.96

Answeris : B

Acceptance or rejection of the
hypothesised population
distribution based upon
differences between observed
in a sample.

Irm
©

A. mean B. frequencies

C.deviations |D.\variance

Answer is : B
When the critical values

2. .
of X increase as n increases
and level of significance

Irm
o

remains

. B.lincreases
constant

C.decreases |D.lis same

Answeris : C
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151 2018

152 2018

153 2018

154 2018

155 2018

156 2018

MSM

MSM

MSM

MSM

MSM

MSM

3APM

3APM

3APM

3APM

3APM
A

3APM
A

OBJ

OBJ

OBJ

OBJ

OBJ

OBJ

is also ED
known as the significant value of
chi-square for n degrees of freedom.

A. mean B. median

C.saddle point  D. critical value

Answer is : D

. ED
In X 2 -test the sample observation |~ —
should be
A. dependent B.variable
C.independent D. constant
Answeris: C
ED

The total frequency
in 2¢* test should be greater than

A.25 B.75
C.100 D.50

Answeris : D

In t-test for single mean the sample E D
has been drawn from the

normal

"distribution B.jsample

C. population D.t distribution

Answeris : C

There is no significant difference | |ED
between the and
population mean.
opulation
_pop B. sample mean
variance
C. frequencies D. mean
Answeris : B
ED

If X E value obtained is greater than
percent then the null
hypothesis is rejected.
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157 2018

158 2018

159 2018

MSM

MSM

MSM

3APM
A

3APM
A

3APM
A

5 1

5 1

5 1
PREVIOUS

OBJ

OBJ

OBJ

A.95 B.98
C.p D.10

Answer is : C

The number of degree ED
of X2 distribution is
A.n B.n+1
C.n? D.n-1
Answer is : D
is total ED

number of observations less than the

number of independent constraints

imposed on the observations.
number of

A. degrees of B. mean
freedom

C. frequencies D. critical value

Answeris : A

The goodness of fit testusesthe |ED
to

determine if a hypothesized

probability distribution for a

population provides a good fit.

Z
A. %2 distribution B- fictribution

student t

C.t distribution D. distribution

Answer is : A

Page:4/ 4 NEXT LAST


http://172.17.30.30/coe/examportal/admin/EditQuestion.php?ID=34006
http://172.17.30.30/coe/examportal/admin/DeleteQuestion.php?ID=34006
http://172.17.30.30/coe/examportal/admin/EditQuestion.php?ID=34007
http://172.17.30.30/coe/examportal/admin/DeleteQuestion.php?ID=34007
http://172.17.30.30/coe/examportal/admin/EditQuestion.php?ID=34008
http://172.17.30.30/coe/examportal/admin/DeleteQuestion.php?ID=34008
http://172.17.30.30/coe/examportal/admin/DisplayQuestions.php?Year=2018&Major=MSM&SubjectCode=3APMA
http://172.17.30.30/coe/examportal/admin/DisplayQuestions.php?Year=2018&Major=MSM&SubjectCode=3APMA&pageNum_rsQuestions=2
http://172.17.30.30/coe/examportal/admin/DisplayQuestions.php?Year=2018&Major=MSM&SubjectCode=3APMA&pageNum_rsQuestions=3
http://172.17.30.30/coe/examportal/admin/DisplayQuestions.php?Year=2018&Major=MSM&SubjectCode=3APMA&pageNum_rsQuestions=3

